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READ 4,7

DIFFERENCES FFOM READ 3,1 ¢ THENSE THAT I CAN THINK 9F )

1)

2)

3)

4)

SCIPE HAS 1 OCTAL.¥ LESS FIELD LEN3TH  ( 47¢ X749 FL)

RFTURN FESTOFE

IF TFE STACK TS IN A CLEa&N STATE ¢ E. 5. JYUST
STARTING, OR AFTER & SUCCISSFILL PURSZE )

2 COMMANDS WILL CAUSE THE PRNCESS T7O DISTFAY F
EXACTLY AS IF BYEBEAD HAD REEN TYPRD, ( §5% RTLAW )

READ 3.1 ISSUED AN ERFOR MESSAGE IN THIS CaSEkE,

RYEBEAD ( NEW COMMAND )

UNDFER 2NY CONDITION, IF THIS COMMAND IS TYPED TO THF
READ, AND RECNGNIZED BY THE BEAD, IT WILL CAUSE THE
PRNOCESS TO DESTROY ITSELF, THIS WILL LEAVE BEHIND
EXACTLY THE SAME JUNK AS HOLDING DOWN THE TRE2K
RIITTON NIND UNDER 3.1

BREEAK RUTTON
¢ NoW 1/° SECOND, UNDER 3.1 WAS 5 T0 If 5700NDS )

IF TKRIS IS USEDN TO DESTRNY A PRIACESS, IT L7AVES
THINGS TN A WOARSE STATE THAN IUNDER 3.1 .

SPACE HAS REEN PEMOVED FROM THE MAGSTER ALLACATION
BLNCX AND NO PRNPER FECORD KEPT. IF THMIS IS

DONE ENNUAH TIMES, ( TOTAL AF APQYT 33 FROM 2LL
TTvS , ) IT WILL CAUSE IPFOC TN MAKE AN EFEOP,
HENCE FARTH THEP WILL BE NO CONTRAOL SHIFT P S
RENISNIZED.




